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A number of you have expressed bewilderment about what's going on in the Quine
article. You don't really see what he's trying to do.

Part of the reason for this is that the relation between this Quine article and the
Russell stuff we were looking at earlier takes some work to uncover. I don't want to
give that away, I want us to discuss it and figure it out together.

Another part of the reason is that Quine is a very spare, economical writer. This
makes it harder to see what he's trying to do. This—can't be helped. It's true that
Quine could have written in a way that's more reader-friendly; but as philosophical
writers go there are many who are much worse. Quine is actually a quite good writer,
conpared with others. S¢ vou have to learn how to accommodate difficult writing. I
have some guidelines T give To my classes about How To Read a Philosophical Paper.
It's on the web at <http://www.people. fas. harvard.edu/~jpryor/general/reading. htmls.
5$me of that adv1ce may already be fam111ar o you, but it might help o be reminded
of it.~ - : '

I want you to learn for yourselves how to pick apart a paper, how to Tigure out what
1% going on in each part. You won't learn how to do this if I tell you in advance
what the structure of each paper is, what its main points are, and so on. And you
have to accept that picking apart and understanding a philo=sophical paper ftakes time
and work. It isn't like reading a newspaper article. It's more like doing a crossword
puzzle or a jigsaw puzzle.

But if you're not making much progress on your own, that's no reason for despair.
That's what our group discussions are for. We can try to figure the paper out
together. We can try out ideas: "Maybe he's trying to do this... No, that doesn't
seem right because. .. Does he assume this? I think so, because...”

It's perfectly okay for you to propose discussion questions of that form. Of course,
don't just email me questions like "What is Quine up to?" We're going to use your
questions to get discussion started. So they should be questions that we can all
understand, and that we can all engage with and start discussing. If you said to the
group "What is Quine up to?" the group will pender this silently and scratch its
heads. No goed! Better to say something Tike "I'm trying to figure out what Quine is
up to. Do you guys think his point is that there are two kinds of belief (and two
kinds of wanting, and so on), and that neither can be reduced to the other?" That's
more likely to start a discussion.

since so many of you have said you can't figure out what Quine is up to, though, this
one time only I will walk you through the article a 1ittle bit. Watch’ how we do this.
This is the kind of thing you need to do yourself, with every article you read.

In the first few paragraphs it's hard to see where Quine is going in the article, or
what his main point will be. But it's clear that he's introducing a distinction
between two kinds of hunting, and two kinds of wanting. Then halfway down p. 186 he
says that this distinction applies to belief as well. -

On, p 18] -we get the first clue of why (Quine thinks any of this is important. He says
‘However, the suggested formulation of the Pelatlonal senses. ..all involve
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- quantifying into a propositional-attitude idiom from outside. This is a dubious
business, as may be S&&n from Lhe following example...”

Before we go any further we should try to figure out what Quine means by “a
propositiconal attitude idiom" and what he means by "quantifying into" such an idiom.
The examples Quine cites should make it c¢lear that he's counting talk about striving,
wishing, and believing as "propositional attitude idioms." And they should also make
it clear that claims of the form "Exists an x: Witold wishes that...x..." count as
"quantifying into" the wishing idiom, and claims of the form "Witold wishes that:
(Exists an x:...x...)" dogsn't count as quantifying into the wishing idiom. So you
only have "quantifying in" when the quantifier “Exists an x' is outside the “wishing,
" but the variable "x" occurs inside the report of what's wished.

(Remark about "propositional attitudes.' These are mental states that you stand in to
propositions. For example, believing that P is standing inh a certain attitude to the
proposition that P. Similarly with the other propositional attitudes Quine cites:
striving that Ernest finds x, wishing that I have x. In both cases we have an
attitude towards a certain proposition--ignoring for the moment any peculiarities due
to the "x." On the other hand, mental states like hunting x and wanting x are
attitudes towards THINGS, not attitudes towards propositions. You hunt lions, you
don't hunt that P. So those don't count as propositional attitudes. But Quine thinks
that when you have some claim of the "hunting X" variety, you can transform it into
some propositional attitude claim. That's why instead of "Ernest is hunting x" he
switches over to talking about "Ernest strives that Ernest finds x." Here we have a
propositional attitude "Ernest strives that such-and-such." This may be more than you
could have figured out on your own from Quine's article, if you had never encountered
talk of propogitional attitudes before. But you should at least be able to see from
his examples what sorts of things he iz counting as "propositional attitudes,” and
what sorts of things he is counting as "quantifying inte" an idiom.)

Okay, soback to-the spot-on p. 187 where Quine says “However, the suggested
formulation of the relational senses...all involve quantifying into a

. propositional-attitude idiom from outside. This is a dubious business, as may be seen
from the following example..."

Quine then goes on to give the example of Ralph and Ortcutt. He says:

"Can we say of this MAN (Bernard T. Ortcutt, to give him a name), that
Ralph believes him to be a spy? If so, we find ourselves accepting a
conjunction of the type:

(11) w sincerely denies '...' w believes that ...
as true, with one and the same sentence in both blanks. For, Ralph is
ready enough to say, in all sincerity, 'Bernard T7. Ortcutt is no spy.'
If, on the other hand..."

Okay, at that point we should stop, because we see from the "If on the other hand..."
that Quine is going on to make a new point. It looks like he's starting to construct
some sort of dilemma. That's an argument of the form "If such-and-such then we end up
here, and if on the other hand so-and-so, then we end up over there." Before we
proceed any further in the article then, we should try to figure out what Quine has
just done, and what kind of dilemma he might be starting to construct.

In the 1little bit of text we're looking at, Quine seems to be saying that, 1if we use
the relational sense of "believing that so-and-so is a spy," then we should count
Ralph as believing Ortcutt to be a spy. (There is an x, namely Ortcutt, that Ralph
believes to be a spy.) But this is odd, because Ralph might in all sincerity deny the
sentence "Ortcutt is a spy." When he thinks of the guy as a spy, he doesn't connect
him with the name "Ortcutt." So the relational sense of believing that so-and-so is a
spy seems to lead to the odd result that you could have claims of the Tollowing sort
being true:

{(11*) Ralph sincerely denies "Ortcutt is a spy," yet Ralph believes Ortcutt to be
a spy.
Quine thinks that’'s odd or somehow problematic.

Anyway, that's a first stab at what's going on in that bit of text. Maybe we'll want
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to come back later and adjust our understanding of it, but as a first stab it seems
OK. %0 let's see what happens next. Quine continues:

"If, on the other hand, with a view to disallowing situations of the
type (11), we rule simultaneously that

(12) Ralph believes that the man in the brown hat is a spy

(13) Ralph does not believe that the man seen at the beach is a spy

then we cease to affirm any relationship between Ralph and any man at
all..."

This is puzzling. It probably won't be clear right away what's going on here. But we
can chip away at it a bit. It looked like Quine was constructing a dilemma, and the
first part was about what happened using the relational sense of "believing that
so-and-30 15 a spy." So it's natural to assume that this second part will be about
what_happens using the_notional sense of “believing that so-and-so is a spy." And
that does seem to fit what OQuine 1is saying here, though it's not 100% clear that it's
what's going on. Another thing you might notice is that in the previous passage,
CQuine talked about "Can we say of this MAN (Bernard T. Ortcutt, to give him a name)
that Ralph believes him to be a spy?" There we're using a name "Ortcutt' and the
pronoun "him." Here we're using descriptions "the man in the brown hat” and "the man
seen at the beach." Is that difference significant here? Or not? Can't tell yet.

(See how it's Tlike doing a crossword puzzle?)
Let's see how Quine continues, it might clear some things up. He writes:

“If, on the other hand, with a view to disallowing situations of the
type (11), we rule simultaneously that

(12) Ralph believes that the man in the brown hat iz a spy

(13) Ralph does not believe that the man seen at the beach is a spy
then® we cease toaffirm any FeTationemip Betwesh Ralph &nd 37y man at
all. Both of the component ‘that'-clauses are indeed about the man
Ortcutt; but the 'that' must be viewed in (12) and (13) as sealing those
clauses off, thereby rendering (12) and (13) compatible because not, as
wholes, about Ortcutt at all. It then becomes improper to quantify as in
(7)... ,
[ looking back we see that (7) was: (7) Exists an x: Ralph believes that
X 15 a spy. ]
... 'believes that' becomes, in a word, referentially opaque."

Okay, in a way this just makes things more confusing but it helpz a Tittle too. What
does this "referentially opaque" mean? You may never have encountered that expression
before. Well, from the way Quine uses it, it's clear that it has something to do with
“quantifying inte’ belief-talk, as in "Exists an x: Ralph believes that x is a spy."
Quine says here that when it's improper to "quantify into" the belief-talk, the
belief-talk iz "referentially opaque.* So that's how we'll understand talk about
things being "referentially opaque.”

It may be hard to see what some of the individual sentences here are saying. For
instance, the sentence beginning "Both of the component ‘that'-clauses..." is
confusing. But looking at the passage as a whole, and considering it in the context
of a dilemma whose other horn concerned the relational sense of "believing that
so-and-s0 1is a spy," the following general picture emerges:

If you're dealing with the relational sense of "believing that so-and-so
is a spy" then you're allowed to quantify into the belief-talk, but then
you get the odd result that things like

(11*) Ralph sincerely denies "Ortcutt is a spy." yet Ralph

believes Ortcutt to be a spy.
might come out true. If on the other hand, you're dealing with the
notional sense of "believing that so-and-so is a spy," that may enable
you to avoid odd results like (117)--instead we'd express things by
saying (12) and (13). But with the notional sense, there's some sense in
which Ralph's beliefs aren't relations to €he man) Ortcutt. (Is this
because they're relations to propositions?) And with the notional sense
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Quine says it is "improper” to guantify into the belief talk. (Or as
Quirme also puts it, the notional belief-talk is "referentially opaque.")

There may =till be parts of what Quine has sald here which are unclear, but that
general picture zeems 0K. So let's see how things continue from there. He writes:

"No question arises over (8)...
[ looking back we see that (8) was: (8) Ralph believes that: (Exists x:
X is a spy). ]

.1t exhibits only a quantification WITHIN the "believes that" context,
not a quantification INTO it. What goes by the board, when we rule (12)
and (13) both true, is just (7). Yet we are scarcely prepared to
sacrifice the relational construction "There is someone whom Ralph
believes to be a spy" which (7) as against (8) was supposed to
reproduce . ”

Well, it takes some work, but piecing this together with the general picture we've
extracted so far, the idea seemns to be:

If you go with the relational sense of belief, then you get odd results
like:

{11*) Ralph sincerely denies "Ortcutt is a spy," yet Ralph

believes Ortcutt to be a spy.
S0 if you want to aveid those odd results you might go with the noticnal
sense of belief, instead. Then we can just say:

(12) Ralph believes that the man in the brown hat is a spy

{13) Ralph does not believe that the man seen at the beach is a spy
and there's no confusion about Ralph's beliefs. Ralph would accept the
sentence "The man in the brown hat is a spy" and he would refuse to
accept the sentence "The man I saw at the beach is a spy." But the

- problém e thEt The MotToRal $en3é dogsn L allow us to quantity in at

alt, it doesn’t let us say things like "There is someone whom Ralph
believes to be a spy." S0 each sense seems somehow inadeguate.

S0 what? Is Qulne thinking that we're only allowed to have one of the senses? Then
maybe there would be a problem here. Maybe he is assuming that. He goes on to say
“The obvious next move is to try to make the best of our dilemma by distinguishing
two senses_of belief..." That does seem a reasonable move to make. That™s the end of
"“¥Re first section.

The second section begins "But there is a more suggestive treatment..." Then Quine
goes oh to talk about how we might just fake one. of the notions of belief (the
nﬁttona& or "referentially opaque" notion) and extend_it in a way to make it do all
the work.

So from what we've seen so far, the general theme of the article seems to be: "There
are two senses of belief, we can't just ditch one of them and keep the other, so at
first it looks like we need both. But let's try to see 1f_we can give a unified
Aanalysis, so that what appear on the surface to be two kinds of belief can really be
SZen to be instances of a single commen underlying relaticon." And that iz pretty much
what Quine is up to.

Now that we've figured that out, it's really helpful. We'll come back to section two.
Now that we've Tigured out what Quine's main project is, let's first try to get an
overview of the general structure of the rest of the paper. (As I say in the
guidelines on reading philosophy papers) 1t s important to Tigure out what the main
project or point of the article is, and what its general structure is, before you
concentrate on the details. Everything we've done so Tar was just trying to unearth
what Quine's main project was.)

Skimming ahead to section three, at the start of that section Quine writes:

"Striving and wishing, like believing, are propositional attitudes and
referentially opaque. {3} and (4)...
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[ that is, (3) Exists an x: (x is a lion & Ernest strives that Ernest
finds x)

and (4) Exists an x: (¥ is a sloop & I wish that I have x) ]

...are objectionable in the same way as (7)...

[ (7) Exists an x: Ralph believes that x is a spy. ]

...and our recent treatment of belief can be repeated for these
propositional attitudes. Thus, just as (7) gave way to (17)...

[ (17) Exists an x: Ralph believes z(z is a spy) of x ]

...50 (3) and (4) give way to:

(24) Exists an x: (x is a lion & Ernest strives z{(Ernest finds z) of x)
(25) Exists an x: (x is a sleop & I wish =z(I have z) of x)."

50 the general point of section three seems to be to apply the account developed fo

belief, in section two, to other propositional attitldes, like striving and wishing.
“({ThHé&Fe 1s also some discUssisn of whether—it's OK t¢ ¢fick with Aotions Tike hinting

X, which aren't relations to propositions, or whether it's better to analyze them 1in
*Egiméwgprhg account Quine has developed for propositicnal attitudes.)

Skimming ahead to section four, OQuine writes there:

"There are goed reasons for bheing discontent with an analysis that
leaves us with propositions, attributes, and the rest of the intensions.
Intensions are less economical than extensions (truth values, classes,
relations), in that they are more narrowly individuated. The principle
of their individuation, moreover, is obscure..."

So the general point of this section seems to be that the analysis Quine has given us
so Tar bas made us of some.things he calls "intensions.” And that for various reasons
{(he ¢ites two in this little passage) he thinks it would be better to have an
analysis that uses some things he calls "extensions" instead. That seems to be the
Pl"'"ﬂj'E'Ct”"Df"'SE'Ct"'[Uﬂ' four, (T fact, He ends Op giving g aseuunt Aot intelms s
extensions but rather in terms of sentences. But that's a detail, we're not paying
attention to the details right now.)

If you haven’'t encountered the notions of "intentions" and "extensiens" before, then
this section will be hard to understand. Also section two may be hard to understand.
You should be able to piece together a little bit of a picture of what the difference
is between extensions and intensions, from the things Quine says. As T said, it's
like a crossword puzzle or a jigsaw puzzle... But this email is already pretty long,
so0 I'11l just tell you what the difference is between intensions and extensions, and
what that difference has fo deo with the details of sections 2 through 4 of the
article.

Everything up until now you really would have been able to uncover for yourselves, by
digging through the article, putting the pieces together, and discussing it with each
other! Really you would. And it's really only the stuff that we've discussed so far
that is relevant for our discussion of Russell and descriptions and names. What I'm
about to explain is important to Quine, and his overall project, but it gets into
details that we don't really need to worry about, for our purposes. Still, you asked,
S0, ..

INTENSIONS AND EXTENSIONS: a rough introductieon

First, we want to distinguish different parts of language: we have sentences, names,
descriptions, predicates, and so on. A predicate is a bit of language like "runs
quickly" or "is a key to Jim's apartment' or "is 1in JTim's pocket on Sunday morning at
11 AM. "

Then we have the worldly counterparts of those. The worldly counterpart of a name is
some thing 1in the world. So we might have the name "George" and its worldly
counterpart is the person George. We say that the name REFERS TO that person.

With sentences and predicates the story about the worldly counterpart is more
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complicated. First of all, when George runs quickly we say that George SATISFIES THE
PREDICATE "runs quickly." IT Kiki is one of the keys to my apartment (I give all my
keys names), then Kiki satisfies the predicate "is a key to Jim's apartment.”
Basically, a sentence like "Kiki is a key teo Jim's apartment” will be true just in
case the name "Kiki" refers to some object, and that object satisfies the predicate
"iz a4 key to Tim's apartment.”

S0 r@fen:lng is a relation that names stand in to objects, and satisfying is a
relation that objects stand in to predicates, which are bits of language. The gbhject
ds_the worldly, extra-linguistic-cewntespact_of the name. What is the worldly
counterpart of the predicate?

Well, one of the things that's a worldly counterpart of a predicate is the
predicate's EXTENSION. The extension of a predicate iz the set of all the objects
that satisfy that predicate. %o if Kiki and Tejo are two keys to my apartment, and
they're the only two keys, then the extension of "is a key to Jim's apartment" is the
set consisting of Kiki and Jojo.

Suppose that, as it happens, Kiki and Jojo are alsc both in my pocket right now, and
they're the only two things in my pocket right now. Then the extension of "is 1in
Tim's pocket on Sunday morning at 11 AM" is also the set consisting of Kiki and Jojo.
50 the two predicates "is a key to Jim's apartment” and "is in Jim's pocket on Sunday
morning at 11 AM" both have the same extension. (0Or as we also say, Lhey're
COEXTENSIONAL.) At the level of extension, there is no difference between these
predicates.

Yet we think that, intuitively, there iz SOME difference between these two
predicates. As it happens they have the same extension, but they MIGHT HAVE HAD
different extensions. There might have been other keys to my apartment than just
those two. Or one of those two might never have existed. Or I might have had some

Ceoing Inmy pocket onSundaymorninginraddition - to-thekeyst Or vrWecapture these
differences between the predicates "is a key to Jim's apartment” and "is in Jim's
pocket on Sunday morning at 11 AM" by saying that the two predicates have different
INTENSIONS, or express different PROPERTIES. The property of being a key to Jim's
apartment is not the same property as the property of being in Jim's pocket on Sunday
morning. It's POSSIBLE for things to have the one property but lack the other, even
if, as it IN FACT happens, the very same things have both properties.

So the intension of a predicate is something like the property the predicate
expresses, and the extension of a predicate is the set. of objects that actually in
fact happen to have that préperty. These can both he counted ‘as extra-linguistic,
worldly counterparts of the predicate. R

So far I've just been talking about the intensions and extensions of 1-place
predicates 1ike "runs quickly" and "is a key to JTim's apartment.” We can alse talk
about the intensions and extensions of 2-place predicates, like "is taller than"; but
let's not worry about that for now. We alsco sometimes talk about the intensions and
\EEE%gfigggﬁgfm§ENIEN£Eﬁ. The extension of a sentence is its truth-value: so all true
sentences have the same extension., The intension of a sentence is the proposition it
expresses. There can be pairs of sentences that have the same extension (truth-value)
but which MIGHT HAVE HAD different truth-values. For instance:

Kiki is a key to Jim's apartment
and: _

Kiki is in JTim's pocket in Sunday morning at 11 AM.
have the same extension (they're both true). But Kiki might not have been in my
pocket on Sunday morning: it could have been the case that the first sentence was
true but the second was false. In such a case the sentences have different intensions
(they express different propositions).

We alse sometimes talk about the extensicons of names. The extension of the name
"Kiki" is just the object Kiki, that the name refers to.

Well, that's an introduction to the notions of intensions and extensions. It may help
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to know that Quine isn't very fond of intensions {properties, propositions, and so
on). He thinks they're creatures of darkness. Extensions are just sets, and they're
much more well-behaved. In part this is because if Superman = Clark Kent (and they
both really exist), then any set containing Superman alse centains Clark Kent, and
vice versa. There 1is no difference between the set {Superman, Kiki, Napoleon} and the
set {Clark Kent, Kiki, Napoleon}. On the other hand, it's not so clear that
intensions work that way. Lois might believe the proposition that Superman flies, but
Tail to believe the proposition that Clark flies. She might desire to have the
property of standing c¢lose teo Superman, but not desire to have the property of
standing close to Clark. And so on. Well, matters are not so clear here. Some
philosophers think those propositions and properties are different, others think they
are the same. It's murky and controversial. With extensions, it's clear that there is
no difference between extensions that contain Clark and extensions that contain
Superman.

This may help make it clearer why Ouine says, in section 2 of his article, that you
can't quantify into the names of intensions. He's using expressions like "z(z is a
spy) " as a nawe fTor the property of being a spy (in other words, as a name for the
intension of "is a spy"). In section two of his article, he wants to represent the
relational claim, that Ralph believes of Ortcutt that he is a spy, as follows:
Ralph stands in the believing relation to (i) the object Ortcutt, and
(ii) the 1-place intension or property: being a spy (in other words, z(z
is a spy)).
Here the reference to Ortcutt is not inside the name of the intension, so it is 0K to
quantify over it, or to replace it with another name or description that picks out
the same guy.
Quine wants to represent the notional c¢laim, that Ralph believes (as Ralph would
himself put it) that Ortcutt is a spy, as Tollows:
Ralph stands in the believing relation to (i) the @-place intension or
proposition: that Ortcutt is a spy.

Here the reference to Ortcutt isall-ingide- the name of the intension’ sg it can't be ~ °

quantiftied over, and we're not allowed to replace it with any old name or description
that picks out the same guy.

What Quine's analysis in section 2 involves, then, is a believing relation which you
can stand in to a variably-sized set of objects, and a variably-placed intension.
(You could have @ objects and a proposition, or 1 ocbject and a 1-placed property, or
2 objects and a 2Z-placed property (otherwise known as a relation), and so on.) The
part of the sentence that names the intension is "referentially opaque": we can't
quantify into it, or substitute names. This part of the sentence is supposed to
represent how Ralph thinks of the phenomena his belief is about. But the part of the
sentence that is not supposed to be naming any intension, or representing how Ralph
thinks of the relevant objects, allows you to quantify and substitute names freely.

That's the gist of the account in section 2. It may not lock like much of an advance
over the end of section 1, where we had twe different senses of "belief.® How is it
really more informative to be told that there is just one underlying belief relation,
it's just that Ralph can stand in that relation to the object Ortcutt and the
intension: being a spy, or he can stand in that relation to the +intension: that
Ortcutt is a spy. By itself, this is not much of an advance. But Quine thinks this is
an important intermediate step, because it makes it clear where we're allowed to
quantify and where not, and we have a rationale for why. {(Quine's rationale is that
we're not allowed to quantify into names of intensions.) In section 4, (Quine goes on
to see if he can fiddle with the account in such a way as to get rid of all the
intensions, and replace them with something else, like extensions (that doesn't work)
or bits of language (Quine thinks that does work). In Quine's eyes, THAT'S what
important about this articlte. The final account that you get in section 4.

But as I said, it's really not what's central for our purposes. What's central for
our purposzes is all there on the table already, once we've figured out what Quine's
main project is, and what the overall structure of the paper is. As I put it above,
the general theme of the article seems to be: "There are two senses of belief, we
can't just ditch one of them and keep the other, so at first it looks 1like we need
both. But let's try to see if we can give a unified analysis, so that what appear on
the surface to be two kinds of belief can really be seen to be instances of a single
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common underlying relation." That's what Quine is up to.

What we want to figure out is how all that relates to the stuff we've been
discussing, about Ruszell and names.

0K, those are all the hints you get for now... :-) See you all this week.
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